H £ 0l & AF & S

0258 E =& 2 3| LEtal| 2|3 AIR

Al A

PA S AR D
g3 Xgels 29 A
ool A3asid (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
2|2 AFR 1t 1,154,112 1,149,939 4,173
Aozl 28 X2 969,7%6 949,7% 20,000
SIHESAE 714,586 712,586 2,000
O =2 nFsEgs X 82,300 97,000 14,700
205 2|2/H| 42,420 57,120 14,700
04 21E=2/(4H| 34,020 48,720 214,700
023 URAF HAH
dd 2,700,000 74 18,900 33,600 14,700
odgsHl X2 420,346 405,646 14,700
205 2|2/H| 420,346 405,646 14,700
05 2AZ2IES3HI 41,780 31,380 10,400
023z2d 553l
33 3,166,600 122 38,000 27,600 10,400
06 23l =2 PR F&| 47,380 43,080 4,300
(OXIES; g3 2,458,300« 122 29,500 25,200 4,300
olEgs =< 36,720 34,720 2,000
201 er=3| 2,000 0 2,000
01 At22t2lt] 2,000 0 2,000
OZASENRTAIZ2Z A2 SHOLSHA
2,000,000 14 2,000 0 2,000
SIEA 28 0 2,000 A2,000
ot DAz 2E Mz 0 2,000 22,000
201 er=23| 0 2,000 A2,000
01 AtR2te|Hl 0 2,000 A2,000
OEAAPIAIZ2S XFUHE
38 03 0 2,000 A2,000
SIBIE AL 2tel 226,035 206,035 20,000
AL AIEEH RX2 226,035 206,035 20,000
401 A2 HIZL R 0HbI 35,000 20,000 15,000
01 Al&HI 35,000 20,000 15,000
OFAL & WA 15,000,000 * 14 15,000 0 15,000
405 AHaHE = 62,000 57,000 5,000
01 LSS FH S 62,000 57,000 5,000
o3& ==FI| WA
5,000,000 14| 5,000 0 5,000
AY 2SI FHI(2B AR 184,316 200,143 A 15,827
oI 2 (22 AR 124,664 140,491 15,827
QA2 (2SI AR 124,664 140,491 A15,827
101 @124H| 124,664 140,491 15,827
01 E= 71,006 104,419 N33,414
Oxzu=22+g 71,005 104,419 A33,414
oxd
dd 11,6023 *16E 2541 2t 12 55,690 89,104 A33,414




SN QlBIARD

I BHSEAY|(2IF MR D)
chel: ol 2al|(SBIAR ) (el mel)

SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2

VBIEDEES=T=PS 53,659 36,072 17,587

023 28 ®20I
HE 40,072,00021%14] 40,072 36,072 4,000

©92/3 SOHEE CHHIQIE

13,587, 00024141 13,587 0 13,587




